a) Theory of Music

(1) Answer the following questions about the score below.
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i. The above phrase, which is a part of a tune, passes through three different keys. Name those keys in order.
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ii. Write the intervals between the notes marked with | |
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ii. Transpose the part (a) Major 3rd lower using the key signature.
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i. Make up the chords which are appropriate to the given chord-names, using the indicated notes as base.
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i. Write the names of keys in which the given chords are |, IV, V and VI.
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b) Chord Progression

(2) Fill in the appropriate chord names in ().
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¢) Arrangement

Arrange the following score into three-part guitar ensemble.
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